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B String Primitive Instructions

Instructions Al =&t
MOVS(B,W,D) | Move string data | M[EDI] < M[ESI]
CMPS(B,W,D) | Compare strings | M[EDI]Q} M[ESI]E H|ul
SCAS(B,W,D) | Scan string M[EDI]2} AL/AX/EAXL} H] il
STOS(B,W,D) | Store string M[EDI] € AL/AX/EAX
LODS(B,W,D) | Load string AL/AX/EAX € MESI]

= MOVSB, MOVSW, MOVSD @} Zt0] T2 0{o] 0| QI E0| 7|2

LIEIL} &= B(byte), W(word), D(double word)& A%t
= OperandZ& HA|UIX] 92 — Implicit Operand

gh HAITH Ot

# AREEESN

"y String Primitive Instructions2| S %}
ull

memory
LODS
«— ESI (D) |
MOVS
EDI (DI
STOS —{EDI @)
SCAS
| MOVS, LODS, STOS: 0|5(2Ah) | | CMPS, SCAS: Hldl |

B ESI2} EDIE= Direction Flag(DF)Q] Zr0f| II2fA]
ArSHOE B7F s ZB4AE > String(HHE) M2lol 88
« DF=0: E7} (1,2,4)
» DF=1: ZtA (1,2,4)

B 16-bit @ E 0| A= ESIQ} EDI C{£10] SIQ} DI7} Af2 =]

A MICH S ul

HEEEEEN o




T MOVSB, MOVSW, MOVSD H=&
]
B MOVSB, MOVSW, MOVSD
. Xk M[ES:EDI] €< M[DS:ESI]
EDIQI ESI E7 = Z+4A (B: 1, W: 2, D: 4)

.data
source DWORD OFFFFFFFFh
target DWORD ?
.code

mov esi,OFFSET source

mov edi ,OFFSET target

movsd ; [edi] € [esi]

; target € source

D% o1 MICH St il

WP HEEREEM Uk by 5

T Direction Flag?} CLD, STD H&H
]
m Direction Flags (DF) — ESIQ} EDIQ] &7}, Z+A HIZFE H|0f
« DF=0: &7}
« DF=1: %4

B CLD2} STD Instruction

=« CLD ; clear DF (0)
= STD ; set DF (1)
« DFE TWAIHOR XIFOI0] Z7H/ZA WS B [0 A2

mmp REP prefix

B REP (repeat prefix)

rep movsbh
= MOVSB, MOVSW, MOVSD 0] QH0j| AL 0}0] I
BHOQ e LW XAIY
L1: movsb
= ECXO ur= 314 X loop L1

B Example: 20 doublewordZE source H E0j| A target HIE =2 2 A}

.data
source DWORD 20 DUP(?)
target DWORD 20 DUP(?)
.code
cld ; DF=0 (forward)
mov esi ,OFFSET source
{:mov edi ,OFFSET target
mov ecx,LENGTHOF source
rep movsd

set REP counter(20)
208 ut= L 08

1% ST AMICH Ot il

S HEEHREES o EE| 0] 7

™E CMPSB, CMPSW, CMPSD H& 0]
L]

® CMPSB, CMPSW, CMPSD
= SZEh M[ES:ESI] — M[DS:EDI] (compare)
EDIRQL ESI E7} k= ZHA
B Example: if (source > target) goto L1
else goto L2

.data

source DWORD 1234h

target DWORD 5678h

.code

mov esi,OFFSET source

mov edi,OFFSET target

cmpsd ; compare [esi] with [edi]
ja L1 ; 1If source > target, jump L1
jmp L2 ; else jump L2

0% &1 MICH St il
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™E REPE, REPNE prefix
]
B conditional REP prefix
= REPE (REPZ) : ECX>0, ZF=19I
» REPNE (REPNZ)
= HHEOFOHOFCE ECXTF 18] ZhA
= CMPSQ} SCASQ} Z+L string Hlul H 0|} &Y

S OF string instruction
; ECX>0, ZF=09Q] = QI string instruction

ArE

repe cmpsb repne scasb
I I
L1: cmpsb L1: scasb
loope L1 loopne L1
HMICHS il
ggggm oEeAo

L=

2 2
CPAT

T Example: ®§21 7He] HE L/ E H|iu
ol
B 0f: E{E IS Hlu

.data
source DWORD 1234h, 2345h, 4567h
target DWORD 5678h, 789ah, 9abch
.code
cld
mov esi,OFFSET source
mov edi,OFFSET target
mov ecx, LENGTHOF source
repe cmpsd ; repeat while equal
; Now, if equal, then ZF=1, else ZF=0
je Equal
Jjmp NotEqual

% X AICH St

SUREEREN ofas=Ido
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™E SCASB, SCASW, SCASD H#H0f
L]

B SCASB, SCASW, SCASD

« TZEh AL/AX/EAX — M[DS:EDI] (compare)
EDI 57t 2= A
m2r
- HiGOIAM SR 2t HM
« HiGOIA SR ZH0] Ofcl YA E M
E;lﬂggﬂﬂ oEa| 0]
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e Example: 2XIHE0IN S 2X 7 A
sl

.data
alpha BYTE "ABCDEFGH",0
.code

mov edi,OFFSET alpha
mov ecx,LENGTHOF alpha

cld

repne scasb ; repeat while not equal
—+jnz quit

dec edi ; EDI points to "F"

mov al,"F* ; search for "F*

B repeat’t ERE|= AR

[ =R RLH

. ZF=1: ZM HBEDIZ HANFAM ZHUERL K| M)
A

| =]
= ZF=0, ECX=0 : Z4AH AT}

4

3 A MICHS A

JHEEEEEN MCEL G
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" STOSB, STOSW, STOSD B30

L]
B STOSB, STOSW, STOSD

. Xk M[DS:EDI] € AL/AX/EAX (store)

EDI E7t1 E= ZHA
B Example: i€ € OFFh 2 X2

.data
str BYTE 100 DUP(?)
.code

mov al,OFFh

mov edi ,OFFSET str
mov ecX,LENGTHOF str

; value to be stored
; ES:DI points to target
; character count

cld ; direction = forward

rep stosb ; Fill with contents of AL
Fen% M| CH St
%‘.%yi%iﬁ%ﬂ OS2 A0 13

™ LODSB, LODSW, LODSD H=
ulll
m | ODSB, LODSW, LODSD
« ZZh AL/AX/EAX €« M[DS:EDI] (load)
ESI S7t B A
B Example: £XIE ASCII AE 2 H2OIH &3

.data
array BYTE 1,2,3,4,5,6,7,8,9
.code
mov esi,OFFSET array
mov ecx,LENGTHOF array

cld

L1: lodsb ; load byte into AL
or al,30h ; convert to ASCII
call WriteChar ; display it
loop L1

= LODSE REPQLI Z}0| AI20t= Zi2 90|17l g2

14

Y Example: HHE &4
llE

B doubleword HiEQ| Z} HA 0 £ TS S0IH M

.data

multiplier DWORD 10
.code
cld
mov esi,OFFSET array
mov edi,esi
mov ecx,LENGTHOF array

array DWORD 1,2,3,4,5,6,7,8,9,10

; direction = up
; source index
; destination index

loop counter

L1: lodsd ; copy [ESI] into EAX
mul multiplier ; multiply by a value
stosd ; store EAX at [EDI]
loop L1
1% o1 M| CH Skl
ﬁgg%iggﬂ o EE| 0] 15

T Exercise
1

m unpacked BCD7} KA byte H{Q $44 2 ASCIIE #2HOLO]
MER byte HHZ 0| 0= Z213# =Hd

.data
array BYTE 1,2,3,4,5,6,7,8,9
dest BYTE (LENGTHOF array) DUP(?)

mov esi,OFFSET array
mov edi ,OFFSET dest
mov ecx,LENGTHOF array

cld
L1: lodsb ; load 1Into AL
or al,30h ; convert to ASCII
stosb ; store into memory
loop L1
0% I AICHO AL

FATEMEEA OdEeA0

16




wym °-4 2AHH HHE
wll

B Base-Index Addressing
= operand £A =reg + reg
» YAl [reg + reg]

(o) mov al, [ebx+esi] ; al € M[ds:ebx+esi]
B Base-Index Displacement Addressing

= operand £ A =reg + reg + constant

= Y2l [reg + reg + constant] &= constant[reg + reg]

(o) mov al, table[ebx+esi] ; al € M[ds:ebx+esi+table]

= constantE displacementztil HE

€% ¢ HICH S il

WS HREHEEM 0l

0x
e
]
re
2

17

"W Base-Index Operand
1
B Base-Index Operand:

‘ B Al [reg + reg] ‘ ‘ operandZ: A& = reg + reg ‘

= protected modeOj| 5| = general purpose register A2 7=

= real mode0j| A= bx, bp (HIO] A YIX]AE])L} si, di (A=A BIX|AH)

O] AYIOZ AR
= bp7} X BIE|™H stack segmentE Al

base )
|:regl index
- {reaz]
Lall [ i
;1n1|.:|-|%15_|§n (G ke Ry |
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" Base-Index-Displacement Operand
=1

B Base-Index-Displacement Operand

B2l [reg + reg + disp] ‘ operandZ A = reg + reg + disp
disp[reg + reg]

= AI27}5 3t register= base-index operand®} Zg

base

T B

index

reg2

displacement

0% o1 MICH St il

SUREEEEN RUCEL Ry 19

E Scaling Factor At
1

B scaling factorE A2 %t base-index operand

‘ YAl [reg + reg*scale] ‘

B scaling factor& A2 9t base-index-displacement operand

i 2l: [reg + reg*scale + disp]
disp[reg + reg*scale]

B word, double word HHE 0| C{PF A E ZHH0| 22 Al

0% &1 MICH St il

SUEEERE ogSa10f
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" Array — 1-dimension
]
B 1-dimensional array: int tab[10];

tab[2] ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ mov eax, [tab+8]

tab [tab+8]

tab[k] ’ ‘ ’ ‘ ‘ ‘ ’ ‘ mov eax, tab[esi]

tab tab[esi] (esi € 4*k), E=
tab[esi*4] (esi € k),

tab[K] ’ ‘ ’ | ‘ ‘ ’ ‘ mov eax, [ebx+esi]

(ebx<tab) [ebx] [ebx+esi] (esi € 4*k), &=
[ebx+esi*4] (esi < k)

" Array — 2-dimension
sl
B 2-dimensional array: int tab[4][5];

logical organization

tab[j][k] ?

physical organization

tab tab[ebx] tab[ebx+esi]

Tt ebx € 4*j*5 (% A|Z} offset)

base index esi € 4%k ('] %))
(BN Aot L 2 of j|CH St
ﬁgggggﬂ oo 21 gglﬁ'g%ﬂ HSEA0 22
r r Arr f Str r
Y Structure T ay of Structure
] sl
H structure B array of structure: struct misc sarray[4];
struct misc {
int a; . ‘ ‘ &l ‘ b | g ‘
short b; a ¢ ‘ ‘ b | ‘
char c; 2 ‘
} sdata; sdata [sdata+4] [sdata+6] a b | c‘
[ a [b [
sdata.b =ax —  mov [sdata+4], ax
p=&sd_ata; mov ebx, offset sdata sarray[k].b =ax ——  mov [esi+sarr§y+4], ax
p->b = ax mov [ebx+4], ax mov sarray[esi+4], ax
EE= mov [ebx + esi + 4], ax
mov ebx, offset sdata Tt ebx < sarray A|RtE &
mov esi, 4 esi € k*JA XM 7] (& A=} offset)
mov [ebx+esi], ax
= o1 Mot aL =\ ot H{LH2LEL
ﬁ;trg%iggﬂ ol =20 23 gglﬂ%'ggﬂ ola=21do 24




" Example: 2-Dimensional Table
=1
B Table with 3 x 5 array data

table BYTE 10h, 20h, 30h, 40h, 50h
BYTE 60h, 70h, 80h, 90h, OAOh
BYTE OBOh, 0OCOh, ODOh, OEOh, OFOh

NumCols = 5
Row = 1
Col =2

mov ebx,NumCols * Row
mov esi,Col
mov al,table[ebx + esi]

Fen A MILH Ot il
NS/ ST Py ojEal o]
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™E Example: 2A}¢1 Hf G2 Q| Bt SHO| Tt |4t

mov eax, 2

mov ecx, 5

mull ecx

add ebx,eax
mov eax,0

mov esi,0

L1: movzx edx,BYTE

add eax,edx

inc esi

loop L1

row index
; row size
; row index * row size
; ebx = row offset
; sum = 0
; column index
PTR[ebx + esi] ; get a byte
; add to sum
; next byte in row

L1: movzx edx,WORD PTR[ebx + esi*2] ; get a word
add eax, edx

‘Ll: add eax,[ebx + esi*4]

HAEEEEEN o a|210] 26

B Bubble Sort

= UNUALLLHI W FE &AM OILITH M2 wEOHA ZAY

H —
- Eniuus i

wpassl: n-iHm LI T T T T T T

spass2: n2iH [T T T T [ T 1]

« pass n-2: 28 H|al Y Y I O

= pass n-1: 1H H|xl I O O O

0% o1 MICH St il

JEBEEREN oaseao
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T Bubble Sort Pseudocode
ol

BN HjQSIA L

CX1 =N-1
while (CX1 > 0) {
e

esi array?| A|ZE A
CX2 = CX1
while (CX2 > 0) {
{
iT( [esi+4] < [esi] ) // QAFXKHA HlU
exchange [esi] with [esi+4]
add esi,4
dec CX2

¥
dec CX1

}

0% &1 MICH St il
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"y Bubble Sort Implementation

title Bubble Sort
INCLUDE irvine3d2.inc

.data
array sdword 10, 38, 28, 88, 78, 98, 25, 80

.code

main proc
mov ecx, lengthof array ; array size
dec ecx ; decrement count by 1

L1: push ecx ; save outer loop count
mov esi, offset array ; point to first value

L2: mov eax, [esi] ; get array value
cmp [esi+h],eax ; compare a pair of values
jge L3 ; If [esi+yu] <= [esi], skip
xchg eax, [esi+h] ; else exchange the pair
mov [esi], eax

L3: add esi,h ; increment pointer
loop L2 ; inner loop
pop  ecx ; retrieve outer loop count
loop L1 ; else repeat outer loop

A M| CH St
5%1'153;%% CEEEI
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T Bubble Sort Implementation (A|<)
=1

mov ecx, lengthof array
mov esi, offset array
Ly: mov eax, [esi]
call WriteDec
mov al, ° °
call WriteChar
add esi, 4
loop L4
exit
main endp
end main

sort Al ==

30

"y Binary Search
ullE
B Binary Search
« EANUE HUE WA HASS HAMO0}

= Divide and conquer HitH At

g

rr
i)

- 7N QIS WO R ZOIHA HA £% > O(og n) YA2IF

m Z|0H | YA

Array Size (n) Maximum Number of
Comparisons: (logz n) + 1
—>

64 7 2

3 —
1,024 11

1 —
65.536 (216) 17
1048576 (229 21
4204967296 (2%2) 33

HMICHS W

# AREEESN

[+ [T 4]
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" Binary Search Pseudocode
ullE
B values: HiQ, N: HHE1A 4, sval: ZAAHZF

first = 0;
last = count - 1;
while( first <= last ){
mid = (last + first) / 2;
if(values[mid] < sval)
first = mid + 1; F7t3k<sval O|H
else if(values[mid] > sval)
last = mid - 1; Z7t¢k<svalO|™
else
"'success" A

ERTEINE:
Zuue 2

=
- o

}

“fail”

AZZ oM =2

A MICH S ul

S AREYEEN Yk Ry
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"y Binary Search Implementation

Binary Search Implementation (Al<£)

ulll ulll
title Binary Search mov first,8 ; First = 8
include irvine32.inc mov eax, lengthof walues
dec eax
.data mouv last,eax ; last = (H - 1)
values dword 18, 2%, 33, 42, 55, 648, 72, B8, 98, 111, mov edi,swval ; EDI = swal
125, 133, 145, 167, 288, 222, 236 mov ebx,offset values ; EBX = array pointer
suval duword ? L1:
first duword 7 mov eax,first
last dword ? cmp eax,last
mid dword ? jg LS ; if (first > last) exit search
prompt byte ‘Input a number: ',0
success byte *Search Success, Index = *,0 mov eax,first
fail byte 'Search Failure " ,8 add eax,last
shr eax,1
-code mov mid,eax ; mid = {first + last) 7 2
main proc
mov edx, offset prompt mov esi,mid
call WriteString Y A A shl esi,2 ; ESI = hemid
call ReadInt mov  edx,[ebx+esi] ; EDX = values[mid]
mov sval, eax
o ot A M|CH Bt
) él@g'%ﬂﬂ ojmEa| 0] 33 a"gllﬁgg_'%ﬂﬂ olgEEIA 34
"y Binary Search Implementation (A|<%) wyg Binary Search Implementation (Al %)
ulll ulll
cmp  edx,edi ; now EDX = values[mid], EDI = sUal L5: mov edx, offset fail ; search failure
jge L2 ; if { values[mid] < sWVal) call WriteString
mov  eax,mid ; first = mid + 1 call Crlf
inc eax
mov  fFirst,eax L9- exit
jmp L1 ; continue the loop
main endp
L2: jle L3 ; if { values[mid] > sWVal) end main
mov eax,mid ; last = mid - 1
dec eax
mov last,eax
jmp L1 ; continue the loop
L3: mov edx, offset success ; search success
call WriteString
moy  eax, mid
call WriteDec
call Crlf
%O O} oA MLl Tt
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